
2016-04-24, 12:02 PM73719870 - Oil Pan

Page 2 of 3https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/87/t/07.01/op9656-02

SMALL | MEDIUM | LARGE

Cart Ref No Part Number Part Description Required Remarks

javascript:swap_img('op969gv','/rtgraphics/english/parts/op/9/op969gv_sm.png');
javascript:swap_img('op969gv','/rtgraphics/english/parts/op/9/op969gv_md.png');
javascript:swap_img('op969gv','/rtgraphics/english/parts/op/9/op969gv_lg.png');


2016-04-24, 12:02 PM73719870 - Oil Pan

Page 3 of 3https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/87/t/07.01/op9656-02

Add Parts To My Cart

  OP9656-02 Oil Pan  Oil Pan...(More)

1 3900631 Screw, Hex Flange Head Cap 2 M8 x 1.25 x 25

2 3903990 Screw, Hex Flange Head Cap 7 M10 X 1.50 X 20.

3 4981915 Screw, Hex Flange Head Cap 12 M8 x 1.25 x 25

4 3920400 Screw, Hex Flange Head Cap 20 M8 x 1.25 x 21

5 3973071 Plug, Threaded 1 M18 X 1.50 X 12.

6 4992508 Plug, Threaded 1 M22 x 1.50 x 19

7 3949562 Gasket, Flange 1  

8 3958209 Pan, Oil 1  

 9 3959797 Gasket, Oil Pan 1  

10 5274747 Tube, Lub Oil Suction 1  

11 3978710 Plate, Clamping 2  

12 3978711 Plate, Clamping 2  

© 2016 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 
Terms of Use and Disclaimers  |  Recommended System Requirements 

Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

